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Maxapiscewe | 32| 4 | 43 |31 36| 3.6 §Ca2015 7% | 07| 12| 27 32 410 | 4e| BCP H 35 .
Marapiscere | 33 | 3 2,6 . - 10CHx B+ 76| 07 I P 32 380 de | BCP g 30 5
Marapiecese [ 33| § | 47 (23] 42| 42 8C31]131Bn 7% | 07| 1a | 27 32 390 | 42| BCP 3 35 %
Maxapiscexe | 51| 4 | 12,5 5 10C3+ B+ TAEYAERERE 410 | 4e| BCP E 35 o
Marapincese | 51| 23 | 10,5 || 11.2] 11,2 9C3 1 BB 7% o7 | 1| 26 28 3190 | de | BCP £ 30 =
Makapincexe | 54| 3 | 34 | -] - | - 10Cs 7% [og | 1 | 25 26 420 | 4e | BCP 35 g
Pasont: |- | = | asE | =~ = | 4 . = N : : = = : =
O6yxossueke | 18| 15| 74 | - | - | - 10Cs+En 61 | 07| 1a | 24 26 330 | 4e | BCF _ 30 g
croslypomi =
Obyxormusre | 20 22 | 4,5 |(2)] 42 42 9C31bn 64 1 07 | Ta ] 25 L 375 lde] BOP ! ncimanmcn ' 3
Ofyxompee | 32| 7 [ 79 @] 70] 70 SCa7En+a+sne 66 |07 | 1a] 27 16 385 | 4e| BCP 35 =
Oyxoemmere | 32| 11 ] 80 | -] - | - 831031 150 | 07| 3| 26 | 40 315 | 4 | BCP 35 -
O6yxowuusre |32 23| 29 | - | - | - 7132F410c+En 56 | 07| 1a] 22| 24 230 |4e[BCP| syposi 30 E’
Divxonrusre | 33| 9 o0 - - I AT 30+ Far+8s BS 0.8 1 23 24 245 d= | BCP e 30 :
b=
Obyxommere [ 37| 19| 38 | - | - | - 811210 o | 06 | 1 | 27 56 00 | 3e | BCP 50 DE:'
Ofyxosnueke | 74| 4 04 - - - NC+]34+ B0 | 06 | fa | 29 32 415 4e | BCP ” 40
Ofyxomupse | 74| 5 | 174 [(2)] 164] 164 8C=1121En 75 o7 | 1| 26 2 385 | 4e | BCP x 30
Obyxommke [ 74| 9 | 128 | - | - | - 10Ca 75 |07 | ta] 20 | 32 475 | 4e| BCP E;, 30
Obyxommuse | 84| 12 | 103 [ 2] 93] 9.3 10C s+ T3+ B 76 | 07| la| 27 28 420 |3e| BCP B 30
Obyxonmuske | 89| 5 | 23,5 |6 10,0] 10,1 10C e [ os | 1 | 20 | 34 360 | 3e| BCP g 55
Obyxommupxe | 90| 4 | 24 | - | - RC3{100)2Ca(80) | 100 | 06 | 1 | 29 | a0 | 360 |3e| BCP & 50
Obyxosvuere | 94| 8 | 10,1 [ (0| 7.7 7.7 10Cs+1]3+En ™o 07 | la | 28 32 440 2e | BCP E 40
Ofyxommpxe |96 1 | 42 (@] 33] 33 10C+/1a 95 [ o7 ] 12| 32 E 530 | 3e| BCP 50




/

OfyxoBHibEe | 96| 3 T2 123} 5| &5 [ 043 g5 | 0.8 | 11 28 470 Je | BCP | cronfyposi it
CivxorHiERS | 96 | 6 70 | (2)] 52| 52 103 96 | 06 | la | 31 32 310 le | BCP | IuKiAMHER il
Fazon: - - 1254 | - = - - - - - - - - - -
Ohpasceke 3] 10 1.5 - - - L3 80 07 2 23 41 340 de | BCP 40
ChpaHceke 3| 14 2] = = (11 T 1] (8 1 21 16 40 de | BCP di)
Ohpascere | 27 6 2.5 - - - [0 86 | 06| 1a | 29 36 400 4¢ | BCP 40
ke 411 14 ,2 - < - [0Ca+-]IIa Th 0.7 1 26 36 4110 da | BCP Al
Opancere | 42| 7 7.9 - IC+HOeLEn Ta (B 1 2 32 470 4= | BCP 30 &
Opancere | 42| 12 4 & = - [0C=+En Th B 1 24 iz 420 de | BCE 44 E
Opancere 42| 24 | 2.9 N 9C31Jks 76 |08 [ 1 | 25 ] 28 415 | 4c| BCP 2 i
Opancexe | 45| 29 [ 26 - 103 65 | 08| 2 | 20| 24 330 | 4e| BCP 30 E
Opapcere |45 31 | 03 - - 103 | 87| 1 24 it 365 4e | BCP 35 =
Opancere | 46 | 31 4.2 = - [R3 a6 | 0B 2 20 22 330 4c | BCP 15 E
Opanceke | 46 | 36 | 0,4 i | 10 0 [os ]| 1| 24 ] 30 30 | 4e| BCP z A0 =
Opasicere [ 47 1 i3 -1 - - L3 85 | 07 1 27 36 420 Je | BCP % 40 %
Opancere | 47| 2 3 = | = 2 [ 0dCa B5 | 06 | 1 25 32 313 le | BCP = 3 5
Opancexe. |a7] 4| 12 | -] -1 - 10C3 70 [o7 | 1a] 26 | 32 410 | 3e| BCP - 40 'H
Opancewe |47 14| 36 | -] - | - 10C3+06 62 [og]| 1 | 25| 30 440 | 3e| BeP =) 40 'g
Opancexe [ 47| 2 08 | -] - - HC31C6 S8 [0B) 1 | A 26 340 | 3e | BCP EE 0 =
Opancesc | 48] 2 | 0.7 ] 0006 55 | 08 | 1a| 23 | 28 | 400 |3c| BCP N 75 o
Opancexe | 48] 21 1.7 -] - - O3] fMaet+T3 9 (08| 16| 27 32 490 Je | BCP 0 _%
Opancee | 50] 6| 06 | -] - | - HC{60YAC(4D) 60 [ 07 ] 2] 18] 24 220 | 3e] BCP 40 =
Opancese | 50| 7 0,5 - - - | (e 71 ([} 1 23 il 300 Je | BCP 25
Opancere | 30| & 22 - - - [0 o5 LR ) 20 3 350 1z | BCP 35
Opancexe | 50| |4 I iy 12| 1.2 [ (s 25 i, 2 26 i 350 e | BCP 30
Opaicexe | 54| 10 9 - - - (1 il 1] 1 i} 22 3I5 de | BCP 25
Opancexe | 55 | 8.5 - - - [ Th 1R | 25 32 adih de | BCP 35
Opancexe | 56 41 | 0.9 . - 0y &0 | 0.6 | 27 3 370 4 | BCP 30
Opancese o1 13 4.9 - - 12 Th 7 1 25 32 Fik de | BCP 40




Opancrke | 66| 29 | 8,6 - - i s 54 | OB ] 20 24 330 e | BCP ;ﬂ}::: a0

Pavosa: = B L7 - - - - - = - - - = - - =
Pozemsiscere | 4 | 15 1.5 - - . 10C s+ 59 | 0.7 la | 23 26 Ll 4= | BCP 35
Pozeascincere | 12| 23| 74 [ (23] 64| 64 1003 s6 | 06 | 16 ] 25 28 330 | 3e| BCP 35
Possamincee | 14| 12| 39 [()] 24| 24 nes * & | 06 | 1a | 24 28 130 | 3e| BCP 30
Pensasisebre | 22| 7 0,7 = - - 10 as | 07 2 20 2 10 4| BCP 30
Poapasiponie | 2 :; 2,1 - - - M3 B | 06 1 24 32 1440 4a | BCP 35
Poseanimerne |31 27| 7 [ -] -] - 1003 58 |07 | 1a] 25] 28 aon | 4 | BCP 35 o
Poseeecincee |33 | 8| 06 | - | - 10Cs 31 |os| 1|25 ] 22 33 | 4e| BCP 35 :
Poseamimcere | 35| 14| 47 | - | - 1002 66 |07 ] 1| 23 26 375 | 4e| BCP 40 o
Poapamincere | 35 | 25 5.0 - - s e | 0.7 | 26 32 410 de | BCP = 40 v
Posnscineere | 36 | &8 | &1 | - | - 10 61 | 06 | 1a | 24 28 350 | 4e| BCP ;:1 35 =
Pospmsciscexe | 38 [ 22 | 2.3 i 10Ca+En 81 o7 1|2 32 460 | 4e| BCP E 45 3
Possaincexel 1| 12| 35 -1 -1 - OO 79 | 06| 1] 24| 32 315 | 4e | BCP - 30 o
Poseaincere |41 129 20 | -] - | - 10Cs g1 | 06| 1 | 2a | 28 340 | de | BCF E 30 =
Possanincone | 44 | 20| 5.0 | - [0CH+Raa=Ax 66 |06 | 1 | 24| 26 325 | de| BCP ] 15 E
Dossawincree | 44] 23] 10 | - - 1003 6 | o6 1 | B 26 315 | de| BCP g 5 =
Pospascinesie | 45 [ 17| 4.4 (@] 30] 30 10C3+6n 8 os ]| 2] 19| 2 230 | de | BCP 40 g
Pozsaxipese | 47 2 | 25 [ (@] 21| 2.1 10Ca s1 |og] 1| 18 I8 280 | de | BCP 30 =
Poasmkiscexe | 47] 9] 09 | - | - - T3 51 |06 ] 1 | 24 2 320 | de| BCP 30 E
Poapaskincske | 49 | 30 1,5 = . - 1 3+6n il 07 | 12| 23 26 365 e | BCP 15 ’E*
Poasaskinenke | 52| 3 04 (2|85 &5 10Cs 6a | 08 I i 26 380 de | BCP 15 z
Posmusiperre | 66 | 20 | 3.8 - - 10Nz il 07| la | 23 26 375 de | BCP 35
Poapreciponee | 66| 24 15,1 - - SC33En20c i 0.5 la 24 32 275 de | BCP 30
FPosaakiecese | 67 2 57 = = 10 il 7 Ia 4 23 390 Je | BCP 40

Pazom; - - Bo. R - = - - - - - - - - - . 2
benepmuere | 4 | 8 4.0 - - 13C3 | 08 1 28 40y 305 Ze | BCP g 33
Mepermexe | 2 | 38| 2.8 -] = - 10C 11| 06 l 28 32 430 2¢ | BCF B a0
Denesense. | 101 5| S [ DEa1] 47 10Cs %6 | 071 2 | 25 | 32 420 | 2¢| BCP EE a0
Deremmpxe | 11] 5 | 100 [ -] - | - 10Cs o1 |o75| 2 | 25 | 26 300 |2¢|BCP| 57 40




Pepenmpre | 11] 15[ 99 | (3)] &4 | &4 10Ca 9] 0.4 1 i 28 550 Ze | BCP (il
Mepeemuewe | 11| 23| 52 [(3)] 3.6 | 3.6 10 a1 0,8 1 28 32 470 2¢| BCP | crosdvpon =0
Presenmumre | 19] | K¢ - - - 10Cs 06 | 0.5 I 27 2 330 Je | BCP LUK AR 33
Dencerueie | 23| 28| 3.2 | (23] 24| 24 160 £6 | 07 | la | 30 36 480 3e | BCP 50
reneamieke | 24| 4 5.6 . - - 16Cs Be | 07 | 28 12 440 3¢ | BCP 45
rencampre | 24| 11 ) - - 10Cs a1 0.7 la 30 40 455 3e | BCP 435
henenmumse | 25( 11 L5 - - - 10C B | OB | 12| 2 32 520 de | BCP 50
Menenmimie | 32| 2 2.4 - - 10Cs 21 | 0,6 I 29 36 kL] Ja | BCP 40 "
Deresnubke | 32| 3 | 52 | - 1003 B | 07| 1 | 27 30 410 | 3e| BCP 40 3
Denenwmie |33 1| 68 | - | - T 86 | 07 | 1a | 30 | 36 470 | 3e | BCP 45 5
Mewenwpre |33 2 | 28 | - | - 10Cs B6 | 0B | 2 | 22 2 330 |3e| BCP 30 -
Menesnubke | 33| 7 6.6 - 10Cs gs | 0,7 | 27 36 420 Je | BCP 45 ;
Mepesnubre | 33 9] 13 | - | - 80321 20| 05| 2 | 26 36 240 | 3e| BCP 25 5
themernupre | 33| 13 5.7 - TCa3 T (200 | 0.6 2 21 36 3340 Je | BCP 40 E
Denopnueke |39 20| 09 | - | - - L0C % | 06 ] 2 | 26 El 340 | 4e| BCP E 35 E_
Meneenuewe | 40| 7 1LD [(5)] 50| 5.0 [ 8 | 07 1 27 32 425 de | BCP _E 4a E
encamure [40] 13| 25 | - | - | - 10Cs 86 | 07| 1 | 25 | 28 | 390 |4c|BCP E 40 2
droncemuse | 40| 16 | 3.9 = 10Cs %6 | 07 | 1 | 28 | 30 140 | de | BCP H 15 £
dencammre | 40| 18] 20 | -] - | - 103 g1 [ 07| 1a| 28| 36 30 | 4e | BCP & a0 2
enenmmxe | 41| 15| 3.9 & = 10C gt (07| 1 {27 ] 30 420 | 4c| BCP g 40 E
redennusre | 41| 18 S i - - | Ca+hEn Th 7 I 26 ki 40 4c | BCP AL E
Gencmmwre |42] 3 | 21,0 [(T)[151] 151 10Cs $3 (07 ] 1 ] 28| 32 410 | 4c | BCP Al =
denesnmre [42] 4 | 12 | - + 10C3 83 o7 ] 1] 28] 32 410 | 4e | BCP A1) ™
enennusre | 43| 5 |8 - - - 10Ca ka6 | o | 26 32 370 4e | BCP 35
hencennske | 46| 4 B4 [{2)]174] 174 13Ca R 07 I 27 28 dz0 de | BCP 40
honepnusre | 47 | 4.3 . - 10 Ba | 07 I 27 32 420 4e | BCP 41
ibepepnnere | 47 4 |5 . - 10Cs B5 | 07 i 27 32 420 4e | BCP 40
depepnuere | 48 | 4 | G & = - 10 g1 0.7 I 26 i1 AL de | BCP 41)
hepepnunre | 48| 18 | 4.6 - - - 10 TH | 07 I ) 2 khif] de | BCP 35
iDesesnusre |48 20 | 2.0 = - 1 Ee | 0.7 | 28 32 440 de¢ | BOP 45




Pemienmipre | 50) 3 1.3 - - - 10Cs 1o | 0.6 2 25 40 &l je| BCP 40 2
Mencnnike | 50 4 e I O e o 10Ca N1 67| 2 | 25 32 380 je | BCP = 4 é
ibemenmpre | 53 | 32 30 - = = B3 1 Bnl By 76 2,7 la a7 40 340 4e | BCP - 35 =
Menennupke | 53 | 35 3.5 - - I a+Ekn 7h | 0.8 | 25 28 4410 de | RCP E 45 E%
Devennuke | 65 17 | 3.1 - | - I0C3+En g1 {07 ] 3] 20| 28 250 | 4e | BCP 2 20 £F
Denepaupre | 65) 18] 2.8 -1 - - 10C3 N j09| 21 21 24 410 de | BCP §. 40 ==
Deyeanunke | 65 ) 21 9 - - 1003 m | 07 | 23 2R 350 de | BCP Lf:l"' 35 E
Meneanupke | 9] 6] 20 | - | - - 10C3 g6 | 07 ] 1t | 26 32 400 | 4¢ | BCP £ 40 g
Beneanure [102] 1 | 95 | - | - | - 10C3 g1 | 07 ] 1 | 24 | 26 | 370 | 4e| BCP 30 i
iDenennunnre | 102] & T2 - - - 10Cs L .7 I 24 26 am de | BCP 11| 4

Pazom: - - | Z1LA | - = = = - - - - - - - - - - -

Beporo: = | = | 15T - - - - - - - - - - - - = -
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